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There is a date in the 0} - AT 92 WM

OVERVIEW
moon will explain the significance of adding the phrase 1171 12 ¥, in the case
of X"y X7X 12 TX.

- 1% 93 PNT 170 NYDT AND)

It seems to M>01n that the 77 would be the same if there was no date in
the v3; the 791 would still be 'w> -

Why is it necessary then, for the 71wn to state the case of an X"¥ in a situation where there
was Ja1; Moo explains:
= AYNNIY XWIN XY 119713 W7 22 HY O 19I9WINYUNRD NON

However, the purpose of stating j27 12 ¥ is to inform us that even if there

is 11 in the w3, nevertheless she should initially not remarry? on the basis of
this v3.

SUMMARY

The mwn teaches us that a v) with 127 and an X"V signed it (the 721 is Ww>
72v°72, but) nevertheless the woman may not remarry 712°1n2% on the basis of
this va.

THINKING IT OVER
What would be the 17 in a case of X"¥1 17> 2n2 and there 1s ja7; would she be
permitted to marry 7710377

" Inserting 1»7 in the v3 is a 250 napn. They are not 7010 the 71 born to a woman after she was nw N with
a vx which has no 1a71. For the reason why an X" is sufficient even according to »"1 ([even] if we maintain
11w 7YY 7910 AND), see previous AWLW 7"7 'O,

* See previous w5w 7"7 'on for the reason.
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